INDIAN SCHOOL DARSAIT
SUBJECT ENRICHMENT ACTIVITY -TERM 1

MATHEMATICS

Class: IV Sec:

NABET

Max.Marks: 10

Date:
Name : Roll No._
Q.1 Choose the correct answer: 5x1=5
1. Successor of ““ ninety thousand” is

a) 90,100 b) 90,010 c) 90,001 d) 89,999
2. Greatest 5 digit number using the digits 8, 5, 7, 2, 41is

a) 85,724 b) 87,542 ) 87,452 d) 84,572
3. The standard form for 2,00,000 + 30000 + 50 is

a) 2,03,050 b) 2,30,050 c) 2,03,50 d) 2,00,350
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4. The smallest number among the following is

a) 7,09,500 b) 7,80,500 ) 7,40,005 d) 7,02,450
5. Place value of 8 in the numeral 3,85,671 is

a) 80,000 b) Thousands c) 8,00,000 d) 8000
Q. 1l Answer the following: 5x1=5
1. 6748 rounded to nearest 10 is
2. Roman numeral for 32 is
3. 10,000 more than 12,670 is
4, The digit in the ten thousand’s place in 4,56,910 is
5. Sum of place values of 3 in 3,02,530 is
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